Arithmetic of Exponents (Negative Exponents)

10+ (—4) =
8(_2) + 2 —

1—(-8) =

Date: Score:

6V —(-10)=
50D —(-10) =
1072 - (-8) =
(—8) "V + (-7 =
(=6)° = (=7) =
160 —10=

82 + 10 =
(-5 = (-10) =
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Arithmetic of Exponents (Negative Exponents)

Name:

3 - (-1)=2

9* —(=7) = 88

_ 53 8
3 +(-6)= (-75) = (-55)

(—2)° +6=10
79 15

A2 5= ("= (4=
(=) 7 =5= (1) = ()

253 1
(_2)+ = — ="
¢T38 T T3
2’ -3=1
10+(—4) =6

129 1
1y 27 5
A
1-(-8)=9

Date: Score:

61 1
6D —(-10) = ~ = 102
51 1

50D —(-10) = < = 103

801 1
1002 — (=) = S° g~
0 9 100 8100

- 57 1
(8 V(TN = ()= (T

(—6)° = (=7) =43

17V =10 = (-9)

82 +10= % — 10%
(=5 = (-10) = % = 10%
7> —(=5) = 54

1-(-5)=6
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